
©H m2Q0z1f8j `KpuBt[af VSBoMfMtQwGaTrPen WLILlCX.l O oArlglt Rroi[gJh^tbsH qrDehsveNrwvsezdn._ N MMDaFddeE Uw_iVtwhp TIynKfoipnci^tmev rAblcgXeEbHrkaB P1W.

Worksheet by Kuta Software LLC

SATPREP

Assignment: Equation of line

Name___________________________________

Date________________

Write the slope-intercept form of the equation of the line through the given point with the given
slope.

1)  through: (−4, 0),   slope = −
5

4
2)  through: (−4, 4),   slope = −

9

4

3)  through: (−2, −5),   slope = 3
4)  through: (2, −2),   slope = 

1

2

Write the slope-intercept form of the equation of the line through the given points.

5)  through: (0, −1) and (3, 4) 6)  through: (1, 4) and (0, −3)

7)  through: (2, −2) and (1, −4) 8)  through: (−4, −2) and (3, 0)
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Answers to Assignment: Equation of line

1)  y = −
5

4
x − 5 2)  y = −

9

4
x − 5

3)  y = 3x + 1
4)  y = 

1

2
x − 3

5)  y = 
5

3
x − 1

6)  y = 7x − 3 7)  y = 2x − 6
8)  y = 

2

7
x − 

6

7




